EEREEBSRE=2VVIJHE (RRFHE6E) #FE
(Fm27%46HA128~8A6RA%EMH)

RF HKER M RAE (RSHRIL)
BERKERARSE (RFHID

EEBEE (150/h)
EREAD BE L% e
No. | s 2FHEH et BEAR |WEES| (BA) - B T %
nEAE| PR ([MEAEE| (o) [EHE
_ N 50cm 0.12 0.10 0.06 0.06 0.08 0.07
2070 | mig |[ERSEREERCEER ) 2w pmre 8838 =
7 m 0.12 0.10 0.06 0.06 0.08 0.07
50cm 0.08 0.07 0.07 0.06 0.08 0.06
2975 | BIIF | EEKFT(EEEE) EINFEHE 8A3A m=E
m 0.08 0.07 0.07 0.06 0.08 0.07
50cm 0.07 0.07 0.07 0.06 0.06 0.07
2976 | HNF  |ARAREE(EPEE) FHKAFRAR 8A3A m=E
m 0.06 0.08 0.07 0.07 0.06 0.07
- = b 2 50cm 0.08 0.09 0.06 0.07 0.07 0.07
oom | g S HERKARRE/E |y mrnm 8R38 =
7 m 0.08 0.09 0.06 0.07 0.07 0.07
s = 50cm 0.07 0.08 0.07 0.08 0.08 0.10
oor8 | gt [RAEESERORIBE prmen mm 8838 X NRHE
7 m 0.07 0.08 0.07 0.08 0.08 0.10
50cm 0.09 0.11 0.08 0.08 0.08 0.08
2079 | BIF |BAKEFHAED  |[RETEEKA 8R38 e
m 0.10 0.10 0.08 0.09 0.09 0.09
50cm 0.09 0.11 0.06 0.08 0.08 0.09
2080 | BNF | N\BETEEARS e 8R38 e
m 0.09 0.11 0.06 0.08 0.08 0.10
50cm 0.09 0.11 0.06 0.08 0.06 0.09
2081 | BIF |BRALEGEEED  |[EEAS 8R38 2mIE
m 0.09 0.10 0.06 0.08 0.07 0.09
50cm 0.11 0.08 0.06 0.05 0.08 0.07
2982 | BIIF | RBHEE KBHARE) [EFERZ 8A3A m=E
m 0.11 0.08 0.06 0.05 0.08 0.07
s s 50cm 0.08 0.08 0.07 0.08 0.10 0.09
203 | Bt |pae PARMERSR |popyr 8838 iES
7 m 0.08 0.08 0.07 0.07 0.10 0.08
50cm 0.10 0.10 0.08 0.06 0.09 0.08
2084 | BN |B/LARMGI/LED |[RTERER 8838 snE
m 0.11 0.11 0.08 0.06 0.10 0.08
50cm 0.08 0.08 0.07 0.06 0.07 0.06
2085 | BN |REARMCGESSED  |RETHEEEN 8R38 snE
m 0.08 0.08 0.07 0.06 0.06 0.06
. o . 50cm 0.08 0.07
2086 | B[R OPREMEIOH |ppaya 8A3A BADHBE
£57%) ;
m 0.08 0.07
50cm 0.08 0.08 0.05 0.06 0.10 0.08
2087 | BN |BEARMGEEED  |BETRE 8R38 e
m 0.09 0.07 0.06 0.06 0.09 0.09
e 50cm 0.09 0.11 0.08 0.09 0.07 0.10
oos | st |EIIRTEREFET/ g peans 8R38 =
7 m 0.10 0.12 0.09 0.09 0.08 0.10
iz P iz 50cm 0.08 0.09 0.07 0.07 0.06 0.08
oo9 | gt [EFFEMRIBEES |pgaey me 8A3A 2mIE
7 m 0.08 0.09 0.06 0.08 0.06 0.07
50cm 0.09 0.10 0.06 0.07 0.08 0.09
2000 | BN |h/EARE(R/BED |R/ETEE 8R38 e
m 0.09 0.11 0.06 0.08 0.07 0.10
v Pves v 50cm 0.10 0.11 0.07 0.07 0.07 0.09
2001 | gt [BLZEMRIBEEN g gor 8838 snE
7 m 0.10 0.11 0.07 0.08 0.07 0.09
- Pves 50cm 0.09 0.11 0.06 0.07 0.07 0.08
o002 | gt [LEESEMRIBEE g2 gnm 8R38 =
d 7 m 0.09 0.11 0.07 0.08 0.07 0.09
50cm 0.08 0.09 0.06 0.07 0.10 0.09
2003 | BIIF |BURERT (B REE) /TR 8R38 HE )
m 0.08 0.09 0.07 0.08 0.09 0.10
Pves 50cm 0.09 0.11 0.07 0.07 0.09 0.09
2000 | B [ 2 EOESERE (g e 8838 HE )
7 m 0.10 0.11 0.07 0.07 0.08 0.10
50cm 0.09 0.09 0.07 0.06 0.08 0.08
2995 | BIIF | BRESF(BREE) BIIFREAR 8A3A FE(X)
m 0.09 0.10 0.06 0.07 0.08 0.08
50cm 0.08 0.09 0.07 0.07 0.08 0.10
2006 | SBIIF | TS (TS [BIITHEEZ 8838 HE )
m 0.09 0.09 0.07 0.07 0.09 0.11
50cm 0.06 0.08 0.05 0.06 0.07 0.07
2997 | BIF  |PRESKF(FREASE) BIIFHFEE 8A3A m=E
m 0.06 0.07 0.06 0.07 0.07 0.07
50cm 0.08 0.07 0.07 0.06 0.08 0.07
2008 | BIIF |PAKRF(RAEE  |SNTHA® 8R38 snE
m 0.07 0.07 0.07 0.06 0.07 0.07
- o - 50cm 0.08 0.07 0.08 0.06 0.08 0.08
2009 | gigt |SEEFEREETRE g sy 8R38 =
7 m 0.09 0.08 0.07 0.07 0.09 0.08
Pves 50cm 0.09 0.08 0.07 0.06 0.08 0.09
s00 | gt [RESEMRIMECAR =)0y 8R38 HE )
7 m 0.09 0.08 0.06 0.07 0.09 0.08
50cm 0.11 0.09 0.07 0.06 0.08 0.07
2000 | BN |EMELIER (LS |[2ETREEET 8R38 snE
m 0.11 0.08 0.07 0.06 0.08 0.07
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(Fm27%46HA128~8A6RA%EMH)

RF HKER M RAE (RSHRIL)

ZRREE (uSv/h)

BERKERARSE (RFHID

READ BE L% e
No. | s 2FHEH et BEAR |WEES| (BA) - B T %
nEAE| PR ([MEAEE| (o) [EHE
i = = 50cm 0.07 0.09 0.06 0.07 0.07 0.09
s002 | g |G- RERENER lygaeog LEE nEH)
” m 0.08! 0.09 0.07 0.07 0.07 0.09
XTI

RERRILEF. TR2656 118,58 A8AICEMLI-MERERBRERSHRE=SV VT RAE (ERFMESE) B THRAERHR.
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